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 Autograph Activity

The Gradient Function in (factorised)(form)


	You should know already that if: 
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But what about functions in the form y = (ax + b)(cx + d)?
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 Open a new 2D page (Advanced Level) 
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 Add Equation y = (2x – 3)(4x + 5)
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 In ‘Slow Plot’ mode click on . . . 
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 . . . Gradient Function.


[image: image8.wmf] Work out and write down here the equation of the gradient graph in the form 
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	[image: image10.png]Gradient graph 1
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Il Equation 1: y=(2x-3)(4x+5)
Il Gradient 1: 1st Gradient of y=(2x-3)(4x+5)






	

	Check your answer – either by adding this equation or you could:
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 Add 2 points to the gradient graph and then find the straight line through these points

[image: image12.wmf] Multiply out the brackets . . . 
(2x – 3)(4x + 5) and hence complete the box below . . . 
	[image: image13.png]Straight Line throug
any 2 points on the
Gradient Graph

Il Equation 1: y=(2x-3)(4x+5)
Il Gradient 1: 1st Gradient of y=(2x-3)(4x+5)






	

	
[image: image14.wmf]   Explain how to find 
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 for any function in the form y = (ax + b)(cx + d)
Try some other functions in the form y = (ax + b)(cx + d) to confirm this.
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